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O FAAMAT S AL L e o
S M =4 50,000
308 XX G SO|IA 100,000 20,000 80,000
01 AIXSHMENMNEX= 100,000 0 100,000
OEXNFXNE AS AR 100,000
ol 2l A Dl = 4,150,000 3,185,000 965,000
= 120,000
g 2,520,000
A 260,000
& 1,250,000
H==23 oA 22 60,000 200,000 A 140,000
N 60,000
308 XHXIEH SOl A 60,000 200,000 A 140,000
N 60,000
01 AIKSHHEMNEXZ 60,000 200,000 A 140,000
Odl==2t otd 22| XA 60,000
A 60,000
YA AZZDRIT2 ] 380,000 220,000 160,000
= 120,000
A 200,000
= 60,000
201 et 200,000 100,000 100,000
S 200,000
03 A2 HH| 200,000 0 200,000
OsY 344 glgotdnN=s 29 200,000
N 200,000
308 XHXIEHSOIA 180,000 120,000 60,000
= 120,000
= 60,000
01 AIKSHMEMNEX= 180,000 120,000 60,000
OsHll LA HAEZMYE WA L ME4LAH 180,000
= 120,000
= 60,000
Y22 KR AIA XS 2,520,000 1,800,000 720,000
g 2,520,000
403 XX SHS K20 & 2,520,000 1,800,000 720,000
Fag 2,520,000
01 XIS A=2E X 2,520,000 1,800,000 720,000
OBY HEYEHEDZD ZHAMY 500,000
= 500,000
OEsE LIes =9 22 HE X4 800,000
g 800,000
OF=H laHAH =4 400,000
g 400,000
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s 230,000
o dlAd - && Jlgtxd 1,190,000 965,000 225,000
201 Let24d] 180,000 0 180,000
01 At 22/l 180,000 0 180,000
OZ0 MA L Y23 Halyg s4(0aEL
10%) 180,000
308 XtXIEHHSOIA 60,000 350,000 A290,000
01 HXNHHBHEELS 10,000 310,000 300,000
O=HMLEUHs nx FIHX 10,000
103/ 2S0HUHeZAEEALS I 50,000 40,000 10,000
Ol =4tAA 23 EHMY X 50,000
403 Ut S E X201 E 950,000 615,000 335,000
01 X SHHAN2E= 950,000 615,000 335,000
Osd Hoteg 232 =4 950,000
Hetd B& 6,494,815 5,295,960 1,198,855
= 2,909,400
s 1,420,000
< 2,165,415
HEEs2A2el(A2E4) 541,600 286,000 255,600
= 491,600
< 50,000
308 XX EHH SOl A 541,600 286,000 255,600
= 491,600
< 50,000
01 HXNHHNBHEES 541,600 286,000 255,600
OgEs 1A 22| 491,600
= 491,600
OJNZEE HYESHA 2elArd XN& 50,000
HgEs2Adzel(AM2Xe) 328,800 497,000 A 168,200
= 328,800
403 A X EHHS =0l A 328,800 497,000 A 168,200
= 328,800
01 XXM 22 = 328,800 497,000 A 168,200
OdigdEs 4 2e 328,800
= 328,800
HHAMEIH S A 2,338,215 2,562,560 N 224,345
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= 300,000
< 65,000
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= 150,000
< 45,000
308 XXIEHH SOl A 195,000 130,000 65,000
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< 45,000
01 XML EES 195,000 130,000 65,000
OZot7 ol Mg I Xl 195,000
= 150,000
< 45,000
oHMaDl HaA X & 1,378,000 374,400 1,003,600
s 1,060,000
< 318,000
308 XM SOIH 1,378,000 374,400 1,003,600
s 1,060,000
< 318,000
01 HXNHHBHELS 1,378,000 374,400 1,003,600
Oof2MelI et K& 728,000
s 560,000
< 168,000
O&AfXMeI| FatAad XI& 650,000
s 500,000
< 150,000
T ALMY I =04 416,000 383,500 32,500
s 320,000
< 96,000
308 XtXIEHHSOIA 416,000 0 416,000
s 320,000
= 96,000
01 HXNHHNBHELS 416,000 0 416,000
OXgY & Mg I| ==0H 416,000
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01 AIXISHMA2E X 392,000 225,000 167,000
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